REKGENE=

VEHICLE PROTECTION
TACOMA GEN 3 RG SLIDER ROCK GUARDS - FRONT & REAR

INSTALLATION INSTRUCTIONS
FRONT INSTALLATION HARDWARE KIT

QTyY DESCRIPTION IMAGE
4 |#14 X 1" SCREWS “
4 |FENDER WASHERS °
4 |SLOTTED WASHERS f

FLAP TO BRACKET ASSEMBLY HARDWARE KIT
8 |#10 Buttonhead Screws q
8 |#10 Washers <>
8 |#10 Lock Nuts e
1 Set |Front Slider Brackets

After Assembly




FRONT INSTALLATION INSTRUCTIONS

STEP 1 [Remove Factory screws at points A & B (FIGURE 1)

Fasten Slider bracket to fender well loosely using 1" screws, fender washers and slotted
STEP 2 |washers (FIGURE 2). NOTE: PLACE SLOTTED WASHERS LONG SIDE OUT FOR WIDE SET UP/
LONG SIDE IN FOR NARROW SET UP

Once bracket is fastened, slide to align to outside of tire (Typical). Tighten screws making sure

STEP 3 slotted washers cover slots in bracket. (FIGURE 3)

STEP 4 |REPEAT ABOVE STEPS ON OPPOSITE SIDE.

FIGURE 1 FIGURE 2

_ SLOTTED WSHR WIDE
SETUP:LONGER SIDE

" OUT FOR LARGER
OFFSET WHEELS

FLIP SLOTTED WASHER
. 180 deg FOR NARROW
OR STANDARD SET UP




REAR INSTALLATION HARDWARE KIT

QTyY DESCRIPTION IMAGE

6 [|#14 X 1" SCREWS

6 FENDER WASHERS

6 SLOTTED WASHERS

|
FLAP TO BRACKET ASSEMBLY HARDWARE KIT
|

8 #10 Buttonhead Screws

8 #10 Washers

8 #10 Lock Nuts

1 Set |Rear Slider Brackets

After Assembly




REAR INSTALLATION INSTRUCTIONS

STEP 1 |[Remove Factory screws at 3 Locations on fender well lip.

Fasten Slider bracket to fender well loosely using 1" screws, fender washers and slotted
STEP 2 |washers (FIGURE 4). NOTE: PLACE SLOTTED WASHERS LONG SIDE OUT FOR WIDE SET UP/
LONG SIDE IN FOR NARROW SET UP

Once bracket is fastened, slide to align to outside of tire (Typical). Tighten screws making sure

STEP 3 slotted washers cover slots in bracket. (FIGURE 5)

STEP 4 |REPEAT ABOVE STEPS ON OPPOSITE SIDE.

FIGURE 4 FIGURE 5

SLOTTED WSHR
NARROW/STD
SETUP:SHORTER SIDE
OUT FOR STOCK/ZERO
OFFSET WHEELS
 FLIP SLOTTED WASHER
180 deg FOR WIDE OR
' LARGER OFFSET
WHEELS




	Sheet1

